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Question No 2 a




Question No 2 b

b. Solve the following simultaneous equations for x and y.
x+3y=-1/3

4x-1/5=2/2
From equation 1

1
x+3y-3y= 3 3y

X = 3
3 y

Put this 1n equation 2
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From equation 2
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Question No 3 a

Question No.3
S | . 3 A
0. Simplify by using exponential laws — —=+—r X5
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QuestionNo 3 b

- Tx(04500
b, Find the value of 1 by usine logarithmic lows ¥ =
L Iy g O =G

Taking log on BS.

log(x’) = log(7° X 0.45°) - log (4 X 10™* X 0.0205°)

3log(x) = log(7?) + log(0.45%) - [log(4) + log(10™*) + log(0.0205)
3log(x) =3 log(7) +2 log(0.45)-log(4)+4log(10)-4log(0.0205)

3log(x) = 11992644

log(x) = 3997548
X =9943.7
|




Question No 4 a

Translating descriptive to set notation
U={2.4,6.8.10,12.14,16,18.20, 22}
A={4812.16}

B={48.12}
C={2430.8.10.12.13.10.18;

a Show that (4uB) =(4 NB')and

LHS:

AuB =1{048.1216}
(AuB)*=U-(AuB)=1{246.810,12,14,16,18,20,22} — {4.8.12,16}
(AuB)° =1{2,6,10,14,18,20,22}

RHS

A°=U-A=1{246.81012,14,16,18,20,22} — {4.8,12,16}
A = {2,6,10,14,18,20,22}

B = U — B = {2,4,6,8,10,12,14,16,18,20, 22} —{4.8.12}

B¢ = {2,6,10,14,16,18,20, 22}

A°n B¢ ={2,6,10,14,18,20,22} n{2,6,10,14,16,18,20,22}
A°nB° ={2,6,10,14,18,20, 22}

~ LHS = RHS



Question No 4 b

b ANn(Bul)=(AnB)u(AnC)

LHS

An(Bu()
BuC={4812}0{246.81012,14,16,18)
BUuC={246.810121416,18}
An(Bu(C)=1{481216}n{24,6.810,12,1416,18})

An(BuC) = {4812,16}

RHS

(ANB)U(ANC)
ANB=1{481216}n{48.12)
ANB={4812)

ANC ={481216} N{24.6.8.10.12.14.16.18}
ANC = {481216)}

(ANB)U(ANC) ={4812}u {4812,16)
(ANB)U(ANC)={481216}

. LHS = RHS



Question 5 a

Question No.5
a. Listprice=38150
Trade discount = 20%. Find the net cost.

20
0 1 y S —_—
20% of list price = 700 X 150

20% of list price = $30
Net Cost = List Price — Trade Discount

Net Cost = 150 — 30

Net Cost = $120



QuestionNo 5Db

c. Cost price=$10
Markup = $6.20
Find markup percent on cost, also find Selling price
sSelling Price

Selling Price = Markup + Cost Price

Selling Price = 10+6.20 = $16.20

Markup percent on cost F 0 20 >< \’D’O

~ QLY



